Example Key Stage 5 Student Work - Mathematics

The following gives some examples of the level of work covered in Mathematics in Key Stage 5 including details of
how we expect students to set out their work and engage with feedback received.

Classwork and homework
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Diagrams have been drawn clearly with pencil and
ruler. This is particularly important for Mechanics
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and graphs in Pure and Statistics.
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Work is checked and self-marked by
students for routine class work.




Teacher assessed work

Targets are either written out or numbered. A score is (S
30 ﬁzﬂ}— given. Students are expected to show their ——2:
' engagement with this target in their “follow up” work.
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Students respond to
written teacher
comments and make
corrections
accordingly.
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“Follow up” questions are
complete according to targets
following review tasks. Some
students will be asked to do
further extension or challenge
tasks as part of their “follow

”

up”.
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